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MUID
e
OS1AR
OS1ACE
OSLALRE
OR1ALCE
Q51 ANE
OE1AT
QELIRAA
OE1RAA
OE 1 RAR
OSIBALR
OB1RBREE
OE1BRCE
OE1EBRDE
OS1EUR
OS1EBUD
OB L CARE
OR1CACE
OBL1CADE
OE1CDE
O51CDD
OB1CE
OB1CGE
O51CGR
O61CGCE
081 CGECE
051CGEDE
051CGDh2
051CLBZ
0B1CLC2
Q51CHMB
Q51CMD
OS1COA
OS1CARE
OR1CACE
OS1CFE
OR1CFD
OS1DAF
OB1DER
OE1DED
OS5 1 DEF
OE1ER
OS1ERA
OR1EREZ
OR1ERCEZ
OB1ESE
0% 1ESD
O51GCA
OB1GCRE
081GCCE
051GCDhE
OS51GNE
051GND
091 GNF
O51GRF
051GRF
051G5BZ
0O516G8CZ
051G5DZ

wh

MAF

SYMEDL.
o K

ARERZ
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CORE
cacs
CPE
CFD
DAF
DEER
DED
DEF
Ek
ERA
ERBZ
ERCE
ESE
ESD
GCA
GCRE
GCC2
GCDE
GNE
GND
GNF
GRF
GRF
GSRZ
GSCZ
GSDhZ

- HIGHLY ERDDIELE LAND CLASSES - HIGHLY ERCODIELE AND
1 = HIGHLY ERIJDIELE LAND FPOTENTIALLY HIGHLY ERODIELE
& o= POTENTIALLY HIGHLY ERODIBLE LAND CACULATIOR VER 1.1
S o= NOT HIGHLY ERODIELE | WIND EROSIION WATER EROSION

(8 I HEL R k T SLOPE~ FERCEN SLOPE--LENGTH

SOTl. NAME Y VALUE VALUE CLASS VALUE VALUE VALUE MIN. MAX. MIN. MAX .

W RN R W KRR W IHRRRHR ¥ WX HRRER HHRHRN HRREN RXNXER BFRHRE KRR KWRENN HRNRN REHEN® R XN
ALERIGHTS 1100 [eg= 128 0,32 = = b= 100 400
ALEBRIGHTS 1 100 0.8 128 Q.24 K] 0 = 100 400
ALLEGHENY 1 100 = 128 Q2 4 k] k] 100
ALLEGHENY 1 100 = 125 0,28 4 = 15 100
ANDUIVER 1 100 & 125 0.17 e (o] = 100
ATEINS 1 100 = 128 Q.22 4 W] ] 100 400
EBRINEERTON 1 850 = 125 Q.32 o] (o] 2 100 400
ARMAGH 2 B0 = 125 0,24 ] ] ] 100 400
BRINKERTON 1 80 = 128 0,32 ] 2 = 100 400
ARMAGH = B0 = 125 0.24 < e = 100 400
BROCKE 1100 ' o.s 128 Q.37 3 = = 100 400
BROOKE 1 100 0.2 128 0,37 3 = 15 100 400
BROCKE i 100 .8 125 0.2 e 15 s 100 400
BEUCHANAN i 100 0.3 P O.24 2 Q = 100 400
BUCHAMAN 1 100 0.2 128 0,24 3 ] et 100 400
CAVIODE 1 100 0. 128 Q.37 k] 2 = 100 400
CAVIDE 1 100 0.8 bt ] 0,37 3 = 15 100 400
CAVIIDE 1 100 Q.= 125 Q.37 = 15 =5 100 400
CAVIDE 1 100 = 125 0.2 3 s = 100 400
CAVODE 1 100 = 125 Q.28 ] = &5 100 400
CHAVIES 1 100 0.2 125 0,.z4 4 Q = 100 400
CLARESEURG | 1 80 0.8 125 Q.37 ] o4 = 100 400
GUERNSEY £ 30 0,3 48 128 0.43 3 e 2 100 400
CLARKSEURG 1 B8O 0.5 125 Q.37 3 = 15 100 400
GUERNSEY Z2 2 ] 42 128 0.43 2 2 15 100 400
CLARKSBURG 1 85O0 o 128 Q.37 3 15 25 100 400
GUERNSEY 2 30 k] 45 125 . 0.43 2 15 25 100 400
CLYMER 1 100 ] 125 z 3 3 12 100 400
CLYMER 1 100 = 125 3 Pt 20 100 400
CLYMER 1 100 ] 1265 ) b (4] 12 100 400
CL.YMER 1 100 a 1258 0.17 2 2 =20 100 400
COOKPORT 1 100 ] 128 0.32 = 0 b 100 400
CODKFORT 1 100 o 125 Q.22 3 2 ] 100 400
COnkEFORT 1 100 o Z5 0.2 2 = 15 100 400
COOERORT 1 100 2 128 0.24 3 (o] = 100 400
CODKFORT 1 100 =2 128 Q.54 3 = 25 100 400
DEEALL 1 100 o 25 0.17 e 30 a0 100 400
DEKALE 1 100 = 125 0.17 b= o] 12 100 400
DEKALE 1 100 2 125 0.17 2 1z 20 100 400
DEKALE 1 100 2 1258 0,17 P 20 =0 100 400
ELEINS 1 100 K] 125 0.37 L] 0Q ] 100 400
ERNEST 1 100 = 128 0.43 2 0 b 100 400
ERNEST 1 100 = 128 0.42 3 3 a 100 400
ERNEST 1 100 = 125 0,43 3 =] 15 100 400
ERNEST 1 100 Q.8 125 0. 22 ] 0 a 100 400
ERNEST 1 100 Q.= 125 0,32 3 b ] 100 400
GILFIN 1 100 Q.2 128 0.24 3 Q 3 100 400
GILPIN 1 100 Q.8 125 0,24 3 ] 12 100 400
GILFIN 1 100 0.8 1258 Q.24 ] 12 20 100 400
GILFIN 1 100 0.2 125 0.4 3 20 20 100 400
GILPIN 1 100 0.2 125 Q.4 = (8] 12 100 400
GILFIN 1 100 0.2 125 0.Z24 = 12 =0 100 400
GILFIN i 100 0.2 1885 Q0.Z4 = 30 A0 100 400
GILFIN 1 5O Q.2 125 024 = 20 a0 100 400
WEIKERT 2 30 0.2 1285 Q.28 b 20 &0 100 400
GLUERNSEY 1 100 0.8 42 125 0.43 3 3 3 100 400
GUERNSEY 1 100 0.8 43 125 Q.43 3 = 15 100 400
GUERNSEY 1 100 0.8 45 28 0,43 = 15 8 100 400
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16,205

46,301
F.407
15,905
&, THE
C0L 438

R.607
2.187
15,208
3,607

16,205
46,201
46,301
46.301
1.982
[ I

11. 780

=200
B1w
51w

OL2EO
Q240
1.12%
1,189
Q0,400
0L E00
0 W OO
0L 800
O 200
Q.78ES
0.7
O.752
Q.72
Q. 2a85
0.447
0.447
447
A00

Reoke)
. oz

[eReRe

=

=200
0,200
0.457
0.447
Q.447
0.447

HE
2T/RE CLA
%% %% %

kX3

R S I T T e R T e B R R S AR A Iy A TSR SR S A B VI S I R R B L DA ol gl RO R & B RO A 03 03 L =3 e P P B



PR Al vt At P A S b | a Wt ot "t . A ’ kS
OR1GSES  GSES GUERNSEY 1 100 (=] b e ] il 100 400 1
OB1GTCR  GTC3 GUERNSEY 1 100 Q.2 2 3 o 1% 100 400 1
OB1GTD:  GTD3 GUERNSEY 1 100 0.8 = = 15 268 100 400 1
OS1HAA HAA HAZLLETION 1 100 0.3 3 Q. = 100 400 &
OE1HA HARZ HAZLETON 1 100 [ ] 2 =2 = 100 =
OEIHACE  HACE HAZLETON 1100 0.3 3 & 0 iC 400 1
OR1HADE  HADE HAZLETDON 1 100 0.8 2 0 ) 400 < i

£ LERE LIERARY 1 100 0.3 3 = & 400 . 2 0.E17 by

LN LINDSIDE 1 100 (3] B &} ] 400 Q.06% 25 1,000 e

MC MELVIN i 80 Q.= 1] 0 I 400 O 087 IE O0.744 =

OSimMe mMC NEWARE Z B0 0.3 &} (o} = 400 O, 067 D.435 0,744 2
O51MD MD MINE DUMFS 1 100 Q.2 4O0ERROR ERRIOR ERRIR ERRO
OS1MIA MOA MONONGAHELA 1 100 o= Q.47 b 0 = 400 0069 0O.a447 =
QRIMORE  MOIRZ MONDONGAHEL A 1 100 Q0.8 O.43 = e = 400 Q.87 Q.447 =
OBIMOCE  MOCE MONONGAHELA 1 100 0.8 Q.43 = a2 [ 100 400 0.9%1 B.11% 0,447 1
OF1FH FH FHILG ’ 1 100 0.8 0,3 5 [v] = 100 400 0, O 435 0,845 ]
OS1FY FU FURDY 1 100 0.3 0.432 = [¢] ] 100 400 0.04% Q.4358 0.447 3
051RU RU RUEELE L.AND 1 100 Q.3 100 400ERROR ERROR ERROR ERRO
OE1SME SME: STRIF MINE SFOIL 1 100 0.2 100 400ERROR ERROR ERROR ERRU
QE15mD SMD STRIF MINE SPOIL 1 100 0.5 100 400ERROR ERROR ERRIR ERRD
O515MF SMF STRIF MINE SPOIL 1 100 LB 100 400ERROR ERROR ERRDOR ERRI
OF1SNE SNE STRIF MINE SFPOIL i 100 0.2 100 400ERROR ERROR ERROR ERRD
OE16ND SND STRIF MINE SPOIL 1 100 0.5 100 400ERROR ERROR ERROR ERRO
OE15NF SNF STRIF MINE SFOIL 1 100 Q. 100 400ERRIR ERROR ERROR ERRO
QOE1THA THA THORNDALE i Q.2 Q.27 ] 2 100 400 0,089 0,438 0.51% 2
OE1THEZ  THERE THORNDALE i 0.2 Q.37 2 = 100 400 Q227 1,988 0,519 =
OE1TY TY TYLER 1 0.2 Q.43 3 = 100 400 0O,06% 0.430 0,447 e
OBELUHEZ  UHRZ UPSHUR 1 Q.3 Q.43 = o 100 400 Q2317 1.9 0,447 &
OS1UHCE  UHCE UFSHUR 1 0.2 0.43 ] 15 100 400 0,971 S.11% 0.447 1
QE1UMDE  UHDZ UFSHUR 1 Q.3 Q.43 ] 8 100 400 & 55 0.447 1
OS1URE UFE UFSHUR 1 0.2 0.37 =3 = 100 400 0,087 0.1 Z
OB1UFD UFD UFSHUR i 0.8 O.37 2 P 100 400 Q,w2] 051 1
OS1UFPF UFF UFSHUR 1 Q.2 Q.37 2 B0 100 400 B.390 26,5446 0,519 i
OS1URE URE UREAN LAND 1 Q.2 100 4O0ERROR ERROR ERRIR ERRO
Q51URD URD UREAN LAND 1 0.8 100 400ERROR ERRIDR ERRIR ERRD
OS1HWCA WCA WESTMORELAND i 0.8 3 0 = 100 400 0,087 0. 435 : <
OB1WCB  MWCE WESTMORELAND 1 0.8 ] 3 12 100 400 0,28 B, A0T =
OB1WCCZ WCCE WESTMOREILAND 1 Q.8 ) 1 =0 100 400 1.304 2187 0.E00 1
QELWCDE  WCDE WESTMORELAND 1 Q.2 2 20 20 100 400 4,072 1E.P058 0,400 1
OG1WRA WRA WHARTON 1 Q.8 Q.37 3 Q b 100 400 0,069 0,435 0,617 b
QB1WREE  WRBEZ WHARTON 1 0.8 0.37 2 3 =] 100 400 0.287°  1.9E2 00819 bt
) OB1WRCZ  WRCE WHARTON i 0.8 0.37 Z = 15 100 400 Q.971 g.11% 0.819 1
) OS1WRDE  WRDZ WHARTON 1 0.2 Q.27 3 15 =5 100 400 Z.85% 11,730 1

‘ OBIWREZ WREZ WHARTCN i Q0.8 Q.27 3 25 38 100 400 &,.8290  Z0.444 1

I OB 1WSE WSE WHARTON 1 Q.2 Q.22 3 Q =] 100 400 Q,04% 2 =
OE1WSE WSE WHARTON 1 Q.2 0,25 k] ] 230 100 400 Q.771 1




